

Department of Economics

Working Paper No. 0509

http://nt2.fas.nus.edu.sg/ecs/pub/wp/wp0509.pdf

A Fictitious-Play Model of Bargaining To Implement the Nash Solution

Younghwan In

This version: January 2005 a preliminary draft

Abstract: We present a fictitious-play model of bargaining, where two bargainers play the Nash demand game repeatedly. The bargainers make a deliberate decision on their demands in the initial period and then follow a fictitious play process subsequently. If the bargainers are patient, the set of epsilon-equilibria of the initial-demand game is in a neighborhood of the division corresponding to the Nash bargaining solution. As the bargainers make a more accurate comparison of payoffs and become more patient accordingly, the set of epsilon-equilibria shrinks and the only equilibrium left is the division of the Nash bargaining solution.

JEL classifications: C71, C72, C78, D83. Keywords: fictitious play, Nash demand game, epsilon-equilibrium, Nash bargaining solution, Nash program.

© 2005 Younghwan In, Department of Economics, National University of Singapore, 1 Arts Link, Singapore 117570, e-mail: ecsyhi@nus.edu.sg, http://courses.nus.edu.sg/course/ecsyhi, tel: +65-6874-6261, fax: +65-6775-2646. I thank Ulrich Berger, Michihiro Kandori, Karl Schlag, Roberto Serrano, and seminar participants at the National University of Singapore, the Singapore Management University and the 2004 Far Eastern Meeting of the Econometric Society for valuable comments. Views expressed herein are those of the author and do not necessarily reflect the views of the Department of Economics, National University of Singapore.

1 Introduction

Since Nash's work in the early 1950's, there have been two different approaches to analyzing bargaining problems: the strategic approach and the axiomatic approach. Nash (1953) claimed that these two approaches should be complementary, and presented a strategic model of bargaining (the perturbed Nash demand game) to implement his axiomatic solution (the Nash (1950) bargaining solution). The idea of relating axiomatic solutions to equilibria of strategic models is now known as the "Nash program." Binmore et al. (1986) showed that the subgame-perfect equilibrium of the Rubinstein's (1982) alternating-offers model approaches the Nash bargaining solution as the friction becomes smaller. For more results in the Nash program, see Osborne and Rubinstein (1990) and Serrano (2004). Serrano also explains how one can view the Nash program in the context of the implementation theory. We attempt to contribute to the research in the Nash program by presenting a strategic model based on a fictitious play of the Nash demand game to implement the Nash bargaining solution.

Our strategic model is partly related with evolutionary models. Several authors have studied evolutionary models of the Nash demand game. Young (1993, 1998) presented a model where bargainers make their demands by choosing best replies based on an adaptive play process with incomplete sampling and showed that the stochastically stable divisions converge to the Nash solution. Santamaria-Garcia (2004) showed similar convergence results using Kandori et al.'s (1993) matching framework. Binmore et al. (2003) showed that the Nash solution is the unique stochastically stable equilibrium in best-response dynamics. Skyrms (1994) showed that the equal split has a larger basin of attraction among the evolutionarily stable equilibria. Ellingsen (1997) investigated the dynamics of the "obstinate" strategy and the "sophisticated" strategy in the evolutionarily stable equilibria. Oechssler and Riedel (2001) showed that the equal split is stable with a continuous strategy space.

Although our model is partly related with evolutionary models, our model is different from the standard evolutionary models. Our model attempts to explain what a fixed pair of individual bargainers will act initially if they expect a long-term relationship with the other bargainer whereas other evolutionary models attempt to explain dynamics of the population(s). The most important difference is the equilibrium-selection mechanism. In our model the initial actions are determined endogenously by the bargainer's deliberate choices whereas in most evolutionary models they are given exogenously. The role that mutation or random experimentation plays for the equilibrium selection in other evolutionary models is played by the small error that the bargainers can make in their calculation of expected payoffs in our model.

We first show that the fictitious play resolves eventually the inefficiency due to miscoordination. If players miscoordinate in the initial period by demanding too little, they get to coordinate eventually in the way that the player who is less greedy in his initial demand gets a better share. If players miscoordinate in the initial period by demanding too much, they get to coordinate eventually in the way that the player who is greedier in his initial demand gets a worse share.

Our main result is that in the initial-demand game they play, all the ϵ -equilibria (à la Radner (1986)) are in a neighborhood of the division corresponding to the Nash bargaining solution if the bargainers are patient (the time discount is small). Furthermore, as the bargainers make a more accurate comparison of payoffs and become more patient (the time discount vanishes) accordingly, the set of ϵ -equilibria shrinks and the only equilibrium left is the division of the Nash bargaining solution.

2 The strategic model

Two players 1 and 2 are playing the Nash (1953) demand game infinitely many times, starting at time t = 0. In each period both players simultaneously announce their demands x and y respectively, where $0 < x, y \le 1$. That is, the size of the pie has been normalized to 1. If $x+y \le 1$, they receive u(x) and v(y) in that period respectively. Otherwise, they receive u(0) and v(0) respectively. The utility functions are strictly increasing, concave, and normalized so that u(0) = v(0) = 0.

There is a discount of payoff by δ between periods, where $0 \leq \delta < 1$. Alternatively, $(1 - \delta)$ can be interpreted as a probability of breakdown, as Binmore, et al. (1986) did. Player 1 receives $u(x_t)I_{[x_t+y_t\leq 1]}(x_t, y_t)$ in each period t, and the average payoff of the infinite sequence of payoffs is

$$\bar{u} \equiv (1-\delta) \sum_{t=0}^{\infty} \delta^t u(x_t) I_{[x_t+y_t \le 1]}(x_t, y_t),$$

where I is an indicator function. Similarly, player 2 receives $v(y_t)I_{[x_t+y_t\leq 1]}(x_t, y_t)$ in each period t, and the average payoff of the infinite sequence of payoffs is

$$\bar{v} \equiv (1-\delta) \sum_{t=0}^{\infty} \delta^t v(y_t) I_{[x_t+y_t \le 1]}(x_t, y_t).$$

From the time t = 1, both players use a simple learning rule and make a decision according to the fictitious play. For any $t \ge 1$, let $f_t(x)$ denote the relative frequency with which player 1 has chosen x up to time (t-1). Similarly, let $g_t(y)$ denote the relative frequency with which player 2 has chosen y up to time (t-1). According to the fictitious play, players choose x_t and y_t for any $t \ge 1$ as follows:

$$\begin{aligned} x_t &= \arg\max_x \sum_{y:g_t(y)>0} g_t(y) u(x) I_{[x+y\leq 1]}(x,y), \\ y_t &= \arg\max_y \sum_{x:f_t(x)>0} f_t(x) v(y) I_{[x+y\leq 1]}(x,y). \end{aligned}$$

That is, in each period each player chooses his best response to the observed historical frequency of his opponent's choices. For simplicity, we assume that ties are broken in favor of a higher demand.

In the initial period t = 0, however, there has been no opponent's action to refer to. In this initial period, the players exercise a higher level of rationality to choose their initial demands because they will determine unambiguously the subsequent demands by the fictitious play process. This initial-demand game is virtually a one-shot Nash demand game where the payoffs are the average payoff of the infinite sequence of payoffs that they expect in the initial and subsequent periods. We employ Radner's (1986) ϵ -equilibrium concept for this initial-demand game.

DEFINITION A strategy profile is an ϵ -equilibrium if no player has an alternative strategy that increases his payoff by more than ϵ .

3 The implementation result

Lemma 1 For any (x_0, y_0) , the following hold: (1) $x_1 = 1 - y_0$ and $y_1 = 1 - x_0$. (2) For any $t \ge 2$, x_t must be either x_0 or $(1 - y_0)$, and y_t must be either y_0 or $(1 - x_0)$. (3) For any $t \ge 1$, $f_t(x_0) + f_t(1 - y_0) = 1$ and $g_t(y_0) + g_t(1 - x_0) = 1$.

Proof. (1) Clearly, $x_1 = \arg \max_x u(x) I_{[x \le 1-y_0]}(x) = 1 - y_0$, and $y_1 = \arg \max_y v(y) I_{[y \le 1-x_0]}(y) = 1 - x_0$.

(2) We prove statement (2) by mathematical induction. x_2 must be either x_0 or $(1 - y_0)$ because $x_1 = \arg \max_x [\frac{1}{2}u(x)I_{[x \le x_0]}(x) + \frac{1}{2}u(x)I_{[x \le 1 - y_0]}(x)]$. Similarly, y_2 must be either y_0 or $(1 - x_0)$.

Suppose that x_t is either x_0 or $(1 - y_0)$, and y_t is either y_0 or $(1 - x_0)$ for any $t \ge 2$ (induction hypothesis). Then x_{t+1} must be either x_0 or $(1 - y_0)$ because $x_{t+1} = \arg \max_x [g_{t+1}(1-x_0)u(x)I_{[x \le x_0]}(x) + g_{t+1}(y_0)u(x)I_{[x \le 1-y_0]}(x)]$. Similarly, y_{t+1} must be either y_0 or $(1 - x_0)$. (3) Statement (3) follows immediately from statements (1) and (2).

Let (x^N, y^N) be the division of the Nash bargaining solution, given the utility functions u and v. That is,

$$(x^{N}, y^{N}) = \arg \max_{(x,1-x)} u(x)v(1-x).$$

We define a function ϕ that assigns $y = \phi(x)$ in [0, 1] to each number x in [0, 1] as follows (see Figure 1):

- $\phi(x^N) = y^N$.
- If $x \neq x^N$, $\phi(x)$ is the solution of the following equation which is different from (1-x):

$$u(x)v(1-x) = u(1-\phi(x))v(\phi(x)).$$

Since u and v are strictly increasing and concave, $\phi(x)$ is uniquely determined for each $x \in [0, 1]$. The function $\phi(x)$ is strictly increasing and reflects the shape of the Pareto frontier of the feasible alternatives. For example, if u and v are linear then $\phi(x) = x$.

Lemma 2 (1) If $x_0 + y_0 = 1$, then $\bar{u} = u(x_0)$ and $\bar{v} = v(y_0)$. (2) If $x_0 + y_0 < 1$ and $y_0 = \phi(x_0)$, then

$$(1-\delta)u(x_0) < \bar{u} < (1-\delta+\delta^2)u(x_0), \quad \lim_{\delta \to 1} \bar{u} = \frac{u(x_0)^2}{u(1-y_0)},$$
$$(1-\delta)v(y_0) < \bar{v} < (1-\delta+\delta^2)v(y_0), \quad and \quad \lim_{\delta \to 1} \bar{v} = \frac{v(y_0)^2}{v(1-x_0)}.$$

(3) If $x_0 + y_0 > 1$ and $y_0 = \phi(x_0)$, then

$$(1-\delta)\delta u(1-y_0) < \bar{u} < \delta u(1-y_0), \quad \lim_{\delta \to 1} \bar{u} = \frac{u(1-y_0)^2}{u(x_0)},$$
$$(1-\delta)\delta v(1-x_0) < \bar{v} < \delta v(1-x_0), \quad and \quad \lim_{\delta \to 1} \bar{v} = \frac{v(1-x_0)^2}{v(y_0)}.$$

(4) If
$$x_0 + y_0 < 1$$
 and $y_0 > \phi(x_0)$, then
 $(1 - \delta)u(x_0) + \delta^T u(1 - y_0) \le \bar{u} \le (1 - \delta^T)u(x_0) + \delta^T u(1 - y_0)$ and



Figure 1: Construction of Function ϕ

 $(1 - \delta + \delta^T)v(y_0) \le \bar{v} \le v(y_0)$ for some positive integer T.

If δ is sufficiently large, as $\delta \to 1$, \bar{u} monotonically increases towards

$$\lim_{\delta \to 1} \bar{u} = u(1 - y_0)$$

and \bar{v} monotonically increases towards

$$\lim_{\delta \to 1} \bar{v} = v(y_0).$$

Similarly, if $x_0 + y_0 < 1$ and $y_0 < \phi(x_0)$, then

$$(1 - \delta + \delta^T)u(x_0) \le \bar{u} \le u(x_0) \quad and$$

$$(1 - \delta)v(y_0) + \delta^T v(1 - x_0) \le \bar{v} \le (1 - \delta^T)v(y_0) + \delta^T v(1 - x_0)$$

for some positive integer T.

If δ is sufficiently large, as $\delta \to 1$, \bar{u} monotonically increases towards

$$\lim_{\delta \to 1} \bar{u} = u(x_0)$$

and \bar{v} monotonically increases towards

$$\lim_{\delta \to 1} \bar{v} = v(1 - x_0).$$

(5) If $x_0 + y_0 > 1$ and $y_0 > \phi(x_0)$, then

$$(1 - \delta + \delta^T)u(x_0) \le \bar{u} \le u(x_0) \quad and$$

$$(1 - \delta)v(y_0) + \delta^T v(1 - x_0) \le \bar{v} \le (1 - \delta^T)v(y_0) + \delta^T v(1 - x_0)$$

for some positive integer T.

If δ is sufficiently large, as $\delta \to 1$, \bar{u} monotonically increases towards

$$\lim_{\delta \to 1} \bar{u} = u(x_0)$$

and \bar{v} monotonically increases towards

$$\lim_{\delta \to 1} \bar{v} = v(1 - x_0).$$

Similarly, if $x_0 + y_0 > 1$ and $y_0 < \phi(x_0)$, then

$$(1-\delta)u(x_0) + \delta^T u(1-y_0) \le \bar{u} \le (1-\delta^T)u(x_0) + \delta^T u(1-y_0)$$
 and

 $(1 - \delta + \delta^T)v(y_0) \le \bar{v} \le v(y_0)$ for some positive integer T.

If δ is sufficiently large, as $\delta \to 1$, \bar{u} monotonically increases towards

$$\lim_{\delta \to 1} \bar{u} = u(1 - y_0)$$

and \bar{v} monotonically increases towards

$$\lim_{\delta \to 1} \bar{v} = v(y_0).$$

Proof. (1) Statement (1) follows from Lemma 1 because $x_0 + y_0 = 1$. (2)-(5) We prove only statement (2) (the case of $[x_0 + y_0 < 1 \text{ and } y_0 = \phi(x_0)]$) and the first part of statement (4) (the case of $[x_0 + y_0 < 1 \text{ and } y_0 > \phi(x_0)]$) omitting the tedious repetition for the other cases.

We first prove the first part of statement (4). Let $f^* \equiv \frac{u(x_0)}{u(1-y_0)}$ and $g^* \equiv \frac{v(y_0)}{v(1-x_0)}$. For any $t \ge 1$,

$$f_{t+1}(x_0) = \begin{cases} \frac{tf_t(x_0)}{t+1} & \text{if } g_t(y_0) \ge f^* \\ \frac{tf_t(x_0)+1}{t+1} & \text{if } g_t(y_0) < f^*, \end{cases}$$

and

$$g_{t+1}(y_0) = \begin{cases} \frac{tg_t(y_0)}{t+1} & \text{if } f_t(x_0) \ge g^* \\ \frac{tg_t(y_0)+1}{t+1} & \text{if } f_t(x_0) < g^*. \end{cases}$$

We define the following four states regarding the pair of relative frequencies $(f_t(x_0), g_t(y_0))$:

- state $[>>]: f_t(x_0) \ge g^*$ and $g_t(y_0) \ge f^*$,
- state $[><]: f_t(x_0) \ge g^*$ and $g_t(y_0) < f^*$,
- state [<>]: $f_t(x_0) < g^*$ and $g_t(y_0) \ge f^*$,
- state $[<<]: f_t(x_0) \ge g^*$ and $g_t(y_0) \ge f^*$.

We define state $[>>]^*$ and $[<<]^*$ as follows:

- state $[>>]^*$: $f_t(x_0) \ge g^*$, $g_t(y_0) \ge f^*$, and $f_t(x_0) = g_t(y_0)$,
- state $[<<]^*$: $f_t(x_0) < g^*$, $g_t(y_0) < f^*$, and $f_t(x_0) = g_t(y_0)$.

Note that $0 < f^* < g^* < 1$ because $x_0 + y_0 < 1$ and $y_0 > \phi(x_0)$. At t = 1, $f_1(x_0) = g_1(y_0) = 1$ and therefore the pair of relative frequencies is in the state $[>>]^*$. At t = 2, $f_2(x_0) = g_2(y_0) = \frac{1}{2}$ and the state can be either $[>>]^*$, [<>], or $[<<]^*$ depending on the values of f^* and g^* . However, it cannot be [><] because $f^* < g^*$. We can establish the following regarding the transition between states:

- If the current state is [<>], the next state is always [<>] (Borrowing a term from the Markov chain theory, the state [<>] is an absorbing state).
- If the current state is [>>]*, the next state must be either [>>]*, [<>], or [<<]*.
- If the current state is [<<]*, the next state must be either [>>]*, [<>], or [<<]*.

Therefore, the state must be either $[>>]^*$, [<>], or $[<<]^*$ for any $t \ge 2$. Furthermore, the state becomes [<>] eventually because the change in the relative frequency between two periods becomes smaller than $(g^* - f^*)$ eventually. That is, an oscillation between the states $[>>]^*$ and $[<<]^*$ cannot last for ever.

Let T_1 be the number of periods when the state is $[>>]^*$ before the state becomes [<>] eventually, and T_2 the number of periods when the state is $[<<]^*$ before the state becomes [<>] eventually. The numbers T_1 and T_2 are nonnegative integers. By taking $T \equiv T_1 + T_2 + 1$, we have

$$(1-\delta)u(x_0) + \delta^T u(1-y_0) \le \bar{u} \le (1-\delta^T)u(x_0) + \delta^T u(1-y_0) \quad \text{and}$$
$$(1-\delta+\delta^T)v(y_0) \le \bar{v} \le v(y_0) \quad \text{for some positive integer } T.$$

If δ is sufficiently large, as $\delta \to 1$, \bar{u} monotonically increases towards

$$\lim_{\delta \to 1} \bar{u} = u(1 - y_0)$$

and \bar{v} monotonically increases towards

$$\lim_{\delta \to 1} \bar{v} = v(y_0)$$

This ends the proof of the first part of statement (4). Now, we prove statement (2).

If $x_0 + y_0 < 1$ and $y_0 = \phi(x_0)$, then $f^* = g^*$. Therefore, the state must be either $[>>]^*$ or $[<<]^*$ for any $t \ge 1$. The state oscillates between

the states $[>>]^*$ and $[<<]^*$ for ever, and the sequence $\{f_t(x_0)\}$ converges to $\frac{u(x_0)}{u(1-y_0)}$ (= $\frac{v(y_0)}{v(1-x_0)}$). Therefore, we obtain

$$(1-\delta)u(x_0) < \bar{u} < (1-\delta+\delta^2)u(x_0), \quad \lim_{\delta \to 1} \bar{u} = \frac{u(x_0)^2}{u(1-y_0)},$$
$$(1-\delta)v(y_0) < \bar{v} < (1-\delta+\delta^2)v(y_0), \quad \text{and} \quad \lim_{\delta \to 1} \bar{v} = \frac{v(y_0)^2}{v(1-x_0)}.$$

This ends the proof of the first part of statement (2).

Therefore, the fictitious play resolves eventually the inefficiency due to miscoordination. If players miscoordinate in the initial period by demanding too little, they get to coordinate eventually in the way that the player who is less greedy in his initial demand gets a better share. If players miscoordinate in the initial period by demanding too much, they get to coordinate eventually in the way that the player who is greedier in his initial demand gets a worse share. In this model, the perpetual miscoordination, as in Young (1993) p. 152, does not happen generically. It only happens when $y_0 = \phi(x_0)$.

The limits for the linear utility case were studied by He (2004). To see how long it takes for the demands to reach the limit in the linear utility case, we refer readers to He.

Theorem 1 For any open neighborhood of (x^N, y^N) , there exist $\epsilon > 0$ and $\delta^*(\epsilon) < 1$ such that all the ϵ -equilibria are in the neighborhood for any $\delta \geq \delta^*(\epsilon)$. As $\epsilon \to 0$ and $\delta^*(\epsilon) \to 1$ accordingly, the set of ϵ -equilibria shrinks and the only equilibrium left is (x^N, y^N) .

Proof. Using the limit average payoffs $\lim_{\delta \to 1} \bar{u}$ and $\lim_{\delta \to 1} \bar{v}$ that we have obtained in Lemma 2, we can get the best response correspondences for player 1 (illustrated in Figure 2)

$$x^{*}(y) = \begin{cases} [0, \phi^{-1}(y)) \cup [1-y, 1] & \text{if } y < y^{N} \\ [0, 1] & \text{if } y = y^{N} \\ \emptyset & \text{if } y > y^{N}, \end{cases}$$

and for player 2

$$y^{*}(x) = \begin{cases} [0, \phi(x)) \cup [1 - x, 1] & \text{if } x < x^{N} \\ [0, 1] & \text{if } x = x^{N} \\ \emptyset & \text{if } x > x^{N}. \end{cases}$$



Figure 2: LIMIT-AVERAGE-PAYOFF BEST RESPONSE CORRESPONDENCE FOR PLAYER 1

Note that the average payoff functions are continuous except at the points of $y = \phi(x)$. One can see easily that the only pure-strategy Nash equilibrium in this case is (x^N, y^N) .

Using the limit average payoffs $\lim_{\delta \to 1} \bar{u}$ and $\lim_{\delta \to 1} \bar{v}$ that we have obtained in Lemma 2, we can get the ϵ -best response correspondence for player 1 (illustrated in Figure 3)

$$x_{\epsilon}^{*}(y) = \begin{cases} \begin{bmatrix} 0, \phi^{-1}(y) \end{pmatrix} \cup \begin{bmatrix} u^{-1}(u(1-y)-\epsilon), 1 \end{bmatrix} & \text{if } y < y^{(1)} \\ \begin{bmatrix} 0, \phi^{-1}(y) \end{pmatrix} \cup (\phi^{-1}(y), 1 \end{bmatrix} & \text{if } y^{(1)} \leq y < y^{(2)} \\ \begin{bmatrix} 0, 1 \end{bmatrix} & \text{if } y^{(2)} \leq y \leq y^{(3)} \\ \begin{bmatrix} 0, \phi^{-1}(y) \end{pmatrix} \cup (\phi^{-1}(y), 1 \end{bmatrix} & \text{if } y^{(3)} < y \leq y^{(4)} \\ \begin{bmatrix} u^{-1}(u(\phi^{-1}(y))-\epsilon), \phi^{-1}(y) \end{pmatrix} & \text{if } y > y^{(4)}, \end{cases}$$
(1)

where

$$y^{(1)}$$
 is the solution of $\phi^{-1}(y) = u^{-1}(u(1-y) - \epsilon),$
 $y^{(2)}$ is the solution of $\frac{u(\phi^{-1}(y))^2}{u(1-y)} = u(1-y) - \epsilon,$



Figure 3: LIMIT-AVERAGE-PAYOFF $\epsilon\text{-Best}$ Response Correspondence for Player 1

$$y^{(3)}$$
 is the solution of $\frac{u(1-y)^2}{u(\phi^{-1}(y))} = u(\phi^{-1}(y)) - \epsilon$, and
 $y^{(4)}$ is the solution of $\phi^{-1}(y) = u^{-1}(u(1-y) + \epsilon)$.

Similarly, the $\epsilon\text{-best}$ response correspondence for player 2 is

$$y_{\epsilon}^{*}(x) = \begin{cases} [0, \phi(x)) \cup [v^{-1}(v(1-x)-\epsilon), 1] & \text{if } x < x^{(1)} \\ [0, \phi(x)) \cup (\phi(x), 1] & \text{if } x^{(1)} \le x < x^{(2)} \\ [0, 1] & \text{if } x^{(2)} \le x \le x^{(3)} \\ [0, \phi(x)) \cup (\phi(x), 1] & \text{if } x^{(3)} < x \le x^{(4)} \\ [v^{-1}(v(\phi(x))-\epsilon), \phi(x)) & \text{if } x > x^{(4)}, \end{cases}$$
(2)

where

$$x^{(1)}$$
 is the solution of $\phi(x) = v^{-1}(v(1-x) - \epsilon)$,
 $x^{(2)}$ is the solution of $\frac{u(x)^2}{u(1-\phi(x))} = v(1-x) - \epsilon$,
 $x^{(3)}$ is the solution of $\frac{u(1-\phi(x))^2}{u(x)} = v(\phi(x)) - \epsilon$, and

$$x^{(4)}$$
 is the solution of $\phi(x) = v^{-1}(v(1-x) + \epsilon)$.

The set of ϵ -equilibria based on the limit average payoffs is illustrated in Figure 4. This set is a subset of

$$\{ x : 1 - v^{-1}(v(y^{(4)}) + \epsilon) \le x \le \phi^{-1}(v^{-1}(v(y^{(4)}) + \epsilon)) \} \times$$

$$\{ y : 1 - u^{-1}(u(x^{(4)}) + \epsilon) \le y \le \phi(u^{-1}(u(x^{(4)}) + \epsilon)) \}.$$

$$(3)$$



Figure 4: LIMIT-AVERAGE-PAYOFF ϵ -EQUILIBRIA

If we choose a sufficiently large $\delta^*(\epsilon) < 1$, then the set of ϵ -equilibria will be a subset of (3) above for any $\delta \geq \delta^*(\epsilon)$. As $\epsilon \to 0$,

$$\begin{split} 1 - v^{-1}(v(y^{(4)}) + \epsilon) &\to x^N, \\ \phi^{-1}(v^{-1}(v(y^{(4)}) + \epsilon)) \to x^N, \\ 1 - u^{-1}(u(x^{(4)}) + \epsilon) \to y^N, \text{ and} \\ \phi(u^{-1}(u(x^{(4)}) + \epsilon)) \to y^N. \end{split}$$

This implies that as $\epsilon \to 0$ and $\delta^*(\epsilon) \to 1$ accordingly, only (x^N, y^N) remains as the limit of ϵ -equilibria.

References

- Binmore, K.G., Rubinstein, A., Wolinsky, A., 1986. The Nash bargaining solution in economic modelling. RAND Journal of Economics 17, 176-188.
- Binmore, K.G., Samuelson, L., Young, P., 2003. Equilibrium selection in bargaining models. Games and Economic Behavior 45, 296-328.
- Ellingsen, T., 1997. The evolution of bargaining behavior. Quarterly Journal of Economics 112, 581-602.
- He, F., 2004. A Fictitious Play of the Nash Demand Game with Linear Utilies. Honours Thesis. National University of Singapore, Singapore.
- Kandori, M., Mailath, G., Rob, R., 1993. Learning, mutation, and long run equilibria in games. Econometrica 61, 29-56.
- Nash, J.F., 1950. The bargaining problem. Econometrica 18, 155-162.
- Nash, J.F., 1953. Two-person cooperative games. Econometrica 21, 128-140.
- Oechssler, J., Riedel F., 2001. Evolutionary dynamics on infinite strategy spaces. Economic Theory 17, 141-162.
- Osborne, M.J., Rubinstein, A., 1990. Bargaining and Markets. Academic Press, San Diego.
- Radner, R., 1986. Can bounded rationality resolve the prisoners' dilemma? In: Hildenbrand, W., Mas-Colell A. (Eds.), Contributions to Mathematical Economics in Honor of Gerard Debreu, North-Holland, Amsterdam, 387-399.
- Rubinstein, A., 1982. Perfect equilibrium in a bargaining model. Econometrica 50, 97-109.
- Santamaria-Garcia, J., 2004. Equilibrium selection in the Nash demand game: an evolutionary approach. mimeo, Universidad de Alicante.
- Serrano, R., 2004. Fifty years of the Nash program, 1953-2003. working paper 2004-20, Department of Economics, Brown University.
- Skyrms, B., 1994. Sex and justice. Journal of Philosophy 91, 305-320.

- Young, H.P., 1993. An evolutionary model of bargaining. Journal of Economic Theory 59, 145-168.
- Young, H.P., 1998. Individual Strategy and Social Structure. Princeton University Press, Princeton.